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1	Introduction
In RAN2#105bis, RAN2 started discussing 2-step RACH for Rel-16 NR. The contribution discusses which TA value should be used for the PUSCH of MsgA transmission in 2-step RACH.
[bookmark: _Toc497230266][bookmark: _Toc497230267]2	Discussion
In NR, a UE can perform uplink transmission (except RA preamble) only if the TAT (timeAlignmentTimer) is running [1].
	[bookmark: _Toc5722090]5.2	Maintenance of Uplink Time Alignment
…
The MAC entity shall not perform any uplink transmission on a Serving Cell except the Random Access Preamble transmission when the timeAlignmentTimer associated with the TAG to which this Serving Cell belongs is not running. Furthermore, when the timeAlignmentTimer associated with the PTAG is not running, the MAC entity shall not perform any uplink transmission on any Serving Cell except the Random Access Preamble transmission on the SpCell.
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where Tc = 1 / ((480 × 103) × 4096)
From RAR:								 			NTA = TA × 16 × 64 / 2µ
From Timing Advance Command MAC CE: 		NTA_new = NTA_old + (TA – 31) × 16 × 64 / 2µ 
for subcarrier spacing of 2µ × 15 kHz, µ=0, 1, 2, 3, 4, 5



It should be noted that no TAT is running while UE is in RRC_IDLE or RRC_INACTIVE. If we follow the existing principle, UE cannot send the PUSCH of MsgA while perform Random Access procedure from RRC_IDLE or RRC_INACTIVE. Hence, in such case, UE should use the predefined value for the TA. As UE itself cannot adjust the predefined value autonomously, it would be reasonable to use the value 'zero' for the predefined value. Also, even if UE receives TA value from RAR once in the scenario, if the contention resolution is not successful, then UE stops TAT according to the existing procedure. Hence, even for the retransmission, UE should use the predefined value for the TA, which could also be zero. 
Once a UE is in RRC_CONNECTED, it maintains the NTA value based on the received RAR or TAC MAC CE, and performs all the uplink transmissions using the NTA value while TAT is running. So, if TAT is running, UE should use the maintained NTA value for the PUSCH of MsgA transmission, instaed of using value zero.
Furthermore, even if TAT is not running, the UE still maintains the NTA value while UE is in RRC_CONNECTED. That is, the maintained NTA value is re-used to calculate a new NTA value when UE receives a TAC MAC CE from the network. Since UE maintains the NTA value based on the latest command from the network, it would be reasonable to re-use the value for the PUSCH transmission of MsgA, even if the TAT is not running. Also considering existing principle, UE should use the same maintained NTA value for the retransmission of the Random Access preamble.
Hence we propose:
Proposal 1: If the NTA value is not maintained, UE uses NTA value 0 for PUSCH of MsgA transmission for both initial and retransmissions.
Proposal 2: If the NTA value is maintained, UE uses the maintained NTA value for PUSCH of MsgA transmission for both initial and retransmissions.
3	Conclusion
Proposal 1: If the NTA value is not maintained, UE uses NTA value 0 for PUSCH of MsgA transmission for both initial and retransmissions.
Proposal 2: If the NTA value is maintained, UE uses the maintained NTA value for PUSCH of MsgA transmission for both initial and retransmissions.
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